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S1 OPEN

B4z K4 FER 4t ANo. Rd.1 Rd.2 Rd.3(H1) | Rd.3(H2) Rd.4 Rd.5 =
1 EX & N 124815 11.0 20.0 17.0 20.0 20.0 88.0
2 ZH BX BEE 347266 20.0 15.0 15.0 17.0 40 71.0
3 Fi1E [EA Rt 201163 17.0 7.0 8.0 13.0 17.0 62.0
4 fhids E—8R #HE)E 047201 40 17.0 13.0 10.0 6.0 50.0
5 fr)il =4 Et 240447 9.0 20.0 15.0 44.0
6 BE = = 068102 8.0 11.0 7.0 40 13.0 43.0
7 SH RE mARERE 232806 15.0 13.0 5.0 2.0 7.0 420
8 B BA FTEE 167908 10.0 9.0 6.0 5.0 10.0 40.0
9 FO A w8 604021 10.0 11.0 15.0 36.0
10 == TEE 088009 11.0 9.0 11.0 31.0
11 INFE Nk BEE 104200 6.0 6.0 40 1.0 8.0 25.0
12 NGB FISE wmE)IE 081146 10.0 1.0 7.0 5.0 23.0
13 A8 EH EE 224245 9.0 6.0 15.0
14 gk & E 202030 13.0 13.0
15 ARig ot TR 231127 5.0 8.0 13.0
16 WH FEF Eg 083663 7.0 3.0 3.0 13.0
17 5 Ea FEER 202378 2.0 8.0 10.0
18 =l BE TFER 238130 9.0 9.0

S2

B2 K4 FER 4t ANo. Rd.1 Rd.2 Rd.3(H1) | Rd.3(H2) Rd.4 Rd.5 =
1 F5 #a FEER 240070 13.0 20.0 17.0 17.0 10.0 77.0
2 e = N 207290 17.0 11.0 11.0 11.0 17.0 67.0
3 BEH th= BEE 207240 20.0 10.0 9.0 10.0 15.0 64.0
4 EX X BEE 224524 17.0 13.0 13.0 20.0 63.0
5 ® A Bt 018590 20.0 20.0 40.0
6 ML T = 218508 15.0 13.0 11.0 39.0
7 FE FX BEE 203385 15.0 15.0 30.0
8 FiE BX s )IE 241166 10.0 9.0 19.0
9 e shE=E G 203686 15.0 15.0
10 #2 5= SFE 119225 13.0 13.0

S3

B4z K4 FER 4t ANo. Rd.1 Rd.2 Rd.3(H1) | Rd.3(H2) Rd.4 Rd.5 =
1 EH & E g 206758 15.0 17.0 20.0 20.0 20.0 92.0
2 HE &L BEE 206378 17.0 20.0 15.0 11.0 17.0 80.0
3 EH BEE Et 346957 20.0 15.0 17.0 17.0 69.0
4 HEE XE ing 233287 13.0 9.0 10.0 10.0 42.0
5 R 2 BEE 209545 9.0 11.0 13.0 33.0
6 Fi HiEs ZHIE 241148 13.0 15.0 28.0
7 WA B— g 225366 11.0 9.0 7.0 27.0
8 Wl =8 g 172262 10.0 8.0 9.0 27.0
9 FEH = #HE)E 240452 7.0 7.0 8.0 22.0
10 hiE &E Bt 076906 8.0 6.0 6.0 20.0
11 ER Eth =EE 232948 15.0 15.0
12 HHE ®KE TR 123526 13.0 13.0
13 INFR #E3E TR 347242 11.0 11.0
14 ErRA ® 2FE 209793 10.0 10.0
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